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1) Mrs. Doubtfire is baking cakes and pies for a bake sale.- Her cake recipe uses 2 eggs and
1 cup of milk, and her pie recipe uses 1 egg and 1 1/2 cups of milk. Mrs. Doubtfire
wants to bake as many items (cakes and pies) as possiblé using the § eggs and 6 cups of
milk that she has on hand. How many cakes and pies should Mrs. Doubtfire make if she
wants to make a profit of $3 for each cake and $3 for each pie? What is her profit?
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2) A carpentry shop makes dinner tables and coffee tables manufactured out of oak and ! 4
mahogany wood. In order to build a dinner table, the carpenter needs 10 ptanks of oak and & -

planks of mahogany, while the coffee table needs 4 planks of oak m:amﬂc‘u_mz_am of mahogany.

The owner of the carpentry shop wants to make a profit of $250 for each dinner table and $120

for each coffee table. If he just received a shipment of 300 oak planks and 420 mahogany

planks, how many dinner tables and coffee tables should be made in order to maximize his

profit? What is his profit?
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